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Read the following statement given below and find the value of m.

Section Name:GENERAL TEST
Question:

(A) ‘m’ and ‘n’ both are even number.

(B) m>n

(C) 0<mg<8

(D) 2n=12

Choose the correct answer from the options given below:
(1) m=7

(2) m=8

(3) m=6

(4) m=4



Question:

The value of 1+ 1 is
i
14+—
D
P
S
S o
@ 3
, 1
() -
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/_/Secti{m Name:GENERAL TEST |
Question:

275%275-175X175

The value of 2754175 iS.
(1) 100
(2) 450
L 20
()

(4) 1



o Section Name:GENERAL TEST
/—/Question:
Match List - I with List - I1.

List - 1 List - II
7
(A) x%-4x+4=0 (I) X=2
(B) 2x-7=0 (I) Quadratic egation
1
(Q) ?—l =0 () x=2 and -2
(D)  4x?+4x+1=0 IV) x=+1

Choose the correct answer from the options given below :
(1) (A)- @), (B) - (1), (C) - (L), (D) - (IV)
(2) (A)- ), B) - @), (©) - @AV), (D) - (1)
(3) (A)- (), (B) - @), (C) - 1, (D) - @V)
(4) (A)- (), (B) - ), (©) - (1), (D) - V)



Question:

8 ¢m ,
NeE—— — ¢

Observe the above figure and answer the question.
The length of AC is.

(1) 1l4cm
(2) 10 cm
(3) 12 cm

(4) 13 cm



Section Name:GENERAL TEST

Question:

8 cm

Observe the above figure and answer the question.
The area of ABCD is.

(1) 118 cm?

(2) 62 cm?
(3) 59 cm?
(4) 90 cm?



Section Name:GENERAL TEST

Question:

8 ¢cm

Observe the above figure and answer the question.

The length of AB is.

(1) 149 cm

(2) 12 cm

(3) 13 cm
)

(4) 149 cm



Question:

TN

A shopkeeper is giving two consecutive discount of 30% and 20%. The selling price of an

article after discount whose MRP is 1200 is.

(1)
(2)
(3)
(4)

600
572
840
672



/_/ Section Name:GENERAL TEST |
Question:

If a:b=3:4 and b:c=3:5 then a:c is.

(1) 3:5
(2) 7:8
(3) 3:4
(4)  9:20

=2 o =m
+ fad 2 [—
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Question:

When three fourth of a number added to the same number, it gives 28 One fourth ot the
number is.

(1) 16

(2) 4

(3) 28
)

4) 7



Section Name:GENERAL TEST

Question:
//2;
A&— — B
v+20)°
C < —> 1
2x-10)°
F

If AB| |CD in figure, then the value of x+y is.

(1) 1800
(2) 859
(3) 1700

(4) 909
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The marks of 12 students in mathematics is as follows:
47, 43, 39, 46, 37, 35, 29, 43, 41, 49, 35, 30

Study the above data and answer the question.

The Range of data is :

Section Name:GENERAL TEST

Question:

@ 17
(2) 19
(3) 20

(4) 18
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The marks of 12 students in mathematics is as follows:
47, 43, 39, 46, 37, 35, 29, 43, 41, 49, 35, 30

Study the above data and answer the question.

The median of the given data is.

Section Name:GENERAL TEST

Question:

(1) 40
(2) 32
(3) 39

(4) 41
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The marks of 12 students in mathematics is as follows:
47, 43, 39, 46, 37, 35, 29, 43, 41, 49, 35, 30

Study the above data and answer the question.

Mean of the given data is.

Section Name:GENERAL TEST

Question:

(1) 40
(2) 39
(3) 39.5

(4) 405



Section Name:GENERAL TEST
Question:

The value of ~ ACB is.

(1) 259
(2) 75°
(3) 1000
(4) 80°



Question:

15 kg is
(1) 30
10
(2) 3
3
(3) 10

% of 50 kg.

TN
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Section Name:GENERAL TEST
Question:

Average age of 4 family members of a family is 15 years. The average age of that family
before the birth of their 3 years old twin kids is.
(1) 27 years

(2) 24 years
(3) 20 years
(4) 30 years



TN

The area of a rectangle is 20 cm?. Its length is 5cm. Find the diagonal of rectangle.

(1) J38cm

Section Name:GENERAL TEST
Question:

(2) dlcm
(3) \/ﬁcm

(4) 21cm



Section Name:GENERAL TEST

Question:

The ratio between the speed of two trains is 3:4. If the second train covers 2 km in 50
seconds, the speed of first train is.

(1) 30 m/sec
(2) 30 km/hr
(3) 40m/sec

(4) 40 km/hr



Question:

A carpet of size 3mx7m has a border of Red colour. The width of border is 25 cm. The
inner part of carpet has blue colour. The area of blue colour is.

(1) 21.m°

(2) 14.75 m?2
(3) 18.5625 m?
(4) 16.25 m?
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Section Name:GENERAL TEST
Question:

If x% of 24=10% of 72 then the value of x is.
(1) 30

(2) 3

(3) 300

(4) 7.2



Section Name:GENERAL TEST |
Question:

Match List - I with List - I1.

List - I List - II
(A) 2x+5=15 () x=-10
(B) x+3=-7 () x=6
(C) 2x-10=8 (III) x=5
(D) x+3=2x-3 (IV) x=9

Choose the correct answer from the options given below :

(1) (A) - 1D, (B) - V), (©) - (1), (D) - (1)
(2)  (A)- (@), (B) - (L), (C) - (IV), (D) - (1)
(3) (A)- (), (B) - @), (C) - (IV), (D) - (1)
(4) (A)-(1V), (B) - 1), (C) - (1), (D) - (1)
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Section Name:GENERAL TEST
Question:

The mean of three consecutive odd integers is 27. the largest among the integers is.
(1) 27

(2) 29
(3) 25
(4) 31
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Section Name:GENERAL TEST
Question:

A train crosses a 250 m long platform in 15 seconds, while it crosses a pole in 2.5 seconds,
what is the length of the train?

(1) 50m

(2) 100m
(3) 150m
(4) 250m
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Section Name:GENERAL TEST
Question:

Pointing a photography a women said, “This man is the son of father in law of my
husband”

How the woman related to the man in Photograph?
(1) Mother

(2) Wife

(3) Daughter

(4) Sister
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Which is the correct diagram showing relation among student, teacher and school.

v QOO
o () O

.6

Question:
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Which is the third word among the following if arranged in dictionary order?
(1) SPACE
(2) SPIRAL
(3) SPRINT
(4) SPORT

Section Name:GENERAL TEST

Question:



Question:

£ r & F

If ‘+" means -/, -’ means =~ and ' =" means ‘*x’ and “x’ means '+’ then.
the value of. 30+15-3%x2 -4

(1) 33
(2) 43.5
(3) 28

(4) 26



Section Name:GENERAL TEST

Question:
3 7
25
2 5 4 6 3 4
The missing number is
(1) 100
(2) 49
(3) 40
4) 14



Question:

Observe the sequence.

|‘;¢i°w¢

Olo A
o A
(1) 1
O
@ |A 1
A
N
A O
@w |4




o l
Question:

Pramod walks 10m towards east then he turns right and goes 8m, he again turns right
and walks 4m. The distance of pramod from initial point is.

(1) 22m
(2) 14m
(3) 10 cm

(4) 24 cm



Section Name:GENERAL TEST

Question:

Observe the following sequence

.ié

T i

® —— o

Which should be next figure

T ™
(1) (3) T




/—/Section Name:GENERAL TEST
Question:

Match List - I with List - II.

List - 1 List - II
(A) Ship (I) Space
(B) Car (I) Water
(C) Aeroplanes (ITII) Road
(D) Train (IV) Track

Choose the correct answer from the options given below :
(1) (A)- @, (B)- 1D, (© - (), (D) - IV)
(2) (&) - @), (B) - (1), (©) - (D, (D) - @V)
(3) (A) - ), (B) - (), (©) - (D, (D) - AV)
(4) (A)- 1) (B) - (), (©) - AV), (D) - ()



Section Name:GENERAL TEST l

Question:

No. of squares in the figure is:

(1) 10
2) 13
3) 14
(4) 9



o/—/ Question:
& O‘%

Water image of above figure is:

A
20
(2)
dh
(3)
V CJN
(4)



Ouestion: l

Which of the following figure 15 odd one.




Question:

TN

[f STUDENTS is Written as TSDVNEST in a certain language than, FLOWER will be

written as.

(1) ERWOLF
EROWLF
LFOWRE

LFWORE



Section Name:GENERAL TEST

Question:

‘A’ is longer than ‘B’ but shorter than ‘C’ . "D’ is not the shortest among all Who is tallest
among all.

(1) D
(2) A
3 €

(4) B
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Section Name:GENERAL TEST

Question:
Find the missing term?
2: 0 W17, 87

Z3
26
24
23

TN



Section Name:GENERAL TEST l

Question:

N il




Section Name:GENERAL TEST

Question:

Badminton

Cricket

—— Tootball

Above diagrames shows the no. of persons who likes different sports. Answer the question.
No. of persons who like cricket only.

(1) 9
(2) 13
3) 8
(4) 6



Section Name:GENERAL TEST

/ Question:

Badminton

Cricket

Above diagrames shows the no. of persons who likes different sports. Answer the question.
No. of persons who like Badminton and cricket but not football is.

(1) 2
(2) 3
(3) 5
(4) 6



/

Question:

o
d

Badminton

Cricket

—3 ['ootball

Above diagrames shows the no. of persons who likes different sports. Answer the question.
No. of persons who like all three sports is.

(1) 24
(2) 15
) 2
4) 9



Question: l

The figure which complete the adjoining figure is.

(1) (3)

(2) (4)




Section Name:GENERAL TEST
Question:

Which team won the ICC women’s cricket world cup 20227
(1) West Indies

(2) India

(3) Australia

(4) England



Section Name:GENERAL TEST
Question:

World competitiveness Index is compiled and issued by-

(1) UNDP
(2) IMD
(3) UNESCO

(4) IMF



Section Name:GENERAL TEST
Question:

Which Indian writer won the ‘International Booker Prize 20227
(1) Chetan Bhagat

(2) Arundhati Roy
(3) Geetanjali Shree
(4) Shashi Tharoor
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Section Name:GENERAL TEST

Question:

Which five year plan is based on the Mahalanobis model ?

(1)  First
(2) Second
(3) Third
(4) Fourth
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“Varuna’ is the bilateral naval excercise between India and which country?
(1) Japan

(2) France

(3) Russia

(4) USA

S‘ectiun Name:GENERAL TEST
Question:



Section Name:GENERAL TEST |

Question:

Match List - I with List - I1.

List - I List - II
Indian National Congress Session HEADED BY
(A) BANARAS SESSION, 1905 (I) M.K. Gandhi
(B) CALCIUTTA SESSION, 1917 (I) Gopal Krishan Gokhale
(C) BELGAUM SESSION, 1924 (IT) Suhash Chandra Bose

(D) HARIPURA SESSION, 1938 (IV) Annie Besant
Choose the correct answer from the options given below :
(1) (A)-@m), B)-1), (O - (), (D)- (V)
(2)  (A)-(1V), (B) - (1), (C)- (), (D) - (1)
(3) (A)-{D), (B)-(1V), (- (1), (D)- ()
4) A)-@, (B)-D, (©-), (D)-(IV)
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Section Name:GENERAL TEST
Question:

Which city awarded as cleanest city Award under ‘Swachh Survekshan Award 20217
(1) Varanasi

(2) Delhi
(3) Surat
(4) Indore
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Section Name:GENERAL TEST
Question:

According to Bloombery Billionaires Index 2022 who is the world’s richest person?
(1) Elon Musk

(2) Gautam Adani

(3) Jetf Bezos

(4) Bill Gates



T )
Question:
Who was the first Lok Sabha speaker of India?
(1) M.A. Ayyangar
(2) G.V. Mavalankar
(3) G.S. Dhillon
(4) ML.G. Joshi
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Section Name:GENERAL TEST
Question:

Kautilya’s Arthashastra’ deals with the aspects of.
(1) School life

(2) Religions life

(3) Political life

(4) Social life



o - ‘

Section Name:GENERAL TEST
Question:

Which of the following country is not a permanent member of U.N. Security council?
(1) China

(2) Germany

(3) France

(4) United Kingdom



’ l
Question:

Match List - I with List - I1.

List - I List - II
Padma Vibhushan Winner’s Field
(A) Ms. Prabha Atre (I) Givil Service
(B) Sh. Radheshyam Khemka (II) Public Affair
(C) General Bipin Rawat (OI) Art
(D) Sh. Kalyan Singh (IV) Literature and Education

Choose the correct answer from the options given below :
(1) (&) - D), (B) - (V) (C) - (), (D) - (1)
(2) (&) - (@V), (B) - (D), (©) - (@), (D) - (1)
(3) (&) -(@V), (B) - (1), (©) - (1), (D) - (I)
(4) (&) - ), (B) - (IV), (©) - (1), (D) - (1)
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Section Name:GENERAL TEST
Question:

Recently which of the following has received the best film Award at the Dadasaheb
International Film festival 2022?

(1) Sher Shah

(2) Pushpa : The Rise
(3) KGF

(4) Major
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Section Name:GENERAL TEST
Question:

Which of the following is the new structure of National Education Policy (NEP) that will
replance the 10+2 structure of school edcuation?

(1) 5+3+2+2
(2) 5+4+2+1
(3) 5+4+3+3
(4) 5+3+3+4



o/J

Section Name:GENERAL TEST

Question:

Which body regulates the stock exchange in India.
(1) Reserve Bank of India

(2)

(3) Finance Ministry
(4)

Securities and Exchange Commission

Securities and Exchange Board of India



/S_e:\lame:GENERAL TEST
Question:

National Education Day is celebrated on:
(1) 11 september

(2) 24 January

(3) 11 November

(4) 05 September



Section Name:GENERAL TEST
Question:

Which among the following is the second largest populated state in India according to
census 2011.

(1) Bihar

(2) Maharashtra
(3) Rajasthan

(4) Uttar Pradesh
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Section Name:GENERAL TEST

Question:

Which of the following is the highest civilian award of India?
(1) TPadma Shri

) Padma Bhushan

(3) Bharat Ratna

(4)

—
o

Paramveer Chakra



& ‘

Question:

Acid rain is caused due to emmission of which of the following into the atmosphere?
(1) Oxides of nitrogen and sulfur dioxide

(2) Carbon dioxide and carbon monoxide

(3) Ozone and carbon dioxide

(4) Carbon monoxide and nitrogen



& ‘

Section Name:GENERAL TEST
Question:

The ozone layer in the upper part of the atmosphere protects us from-
(1) Cosmic Rays

(2) Ultrasonic Waves

(3) Infra-red Rays

(4) Ultraviolet Rays
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Which of the following high court has jurisdiction of more than one State/ Union Territory?
(1) Kerala

(2) Madhya Pradesh

(3) Jharkhand

(4) Delhi

Section Name:GENERAL TEST
Question:



Question:

Which country tested Inter Continental Ballistic Missile (ICBM) RS-28 Sarmat?
(1) China
(2) Pakistan



TN

Ministry of Human Resource and Development (MHRD) was renamed as-
(1) Ministry of Health

(2) Ministry of Education

(3) Ministry of Women and Child Welfare

(4) Ministry of Tribal Affair

Section Name:GENERAL TEST
Question:



Section Name:GENERAL TEST
Question:

The rate of which RBI borrows money from commercial banks within the country is called
(1) Repo Rate

) Bank Rate

) Reverse Repo Rate

4) Cash Reserve Ratio

(2
(3
(
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Section Name:GENERAL TEST
Question:

International Yoga Day is celebrated on.

(1) 21 July
(2) 22 June
(3) 21 June
(4) 22 July
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Section Name:GENERAL TEST
Question:

Which amendment inserted a new article ‘21A” to the constitution providing Right to
Education (RTE).

(1) 87th Amendment
(2) 86" Amendment
(3) 915t Amendment
(4) 85™" Amendment



Question:

Recently the ‘Statue of Equality” is unveiled by the Prime Minister of India in which of the
following city?

(1) Hyderabad
(2) Surat

(3) Vadodara

(

4) Bangalore

Section Name:GENERAL TEST
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Section Name:GENERAL TEST
Question:

Carbon-dating is used to determine the age of-

(1) Plants
(2)  Fossils
(3) Humans
(4) Rocks
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Section Name:GENERAL TEST

Question:

‘Kaziranga National Park’ is located in which Indian State?
(1) Bihar

(2) Assam

(3) Jharkhand

(4) Jammu and Kashmir
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Section Name:GENERAL TEST
Question:

In which state was the Nalanda University Located in India?
(1) West Bengal

(2) Bihar

(3) Odisha

(4) Uttar Pradesh



ﬁ{me:GENERAL TEST l

Question:

Match List - I with List - I1.

List - 1 List - II
Agriculture Revalutions Related to/products
(A) White Revolution (I)  Fish
(B) Grey Revolution (I) Fertilisers
(C) Blue Revolution (II1)  Milk
(D) Silver Revolution (IV) Egg

Choose the correct answer from the options given below :

(1) (A) -, (B)-1), (©)-(D, (D)-(1V)
(2) (A) -, (B)-@1V), (©)- @), (D)-ID)
(3) (A)-(D), (B)-(1V), (©)-(D), (D)-({)
(4)  (A)-(1V), (B)- (), (C)- (D), (D)- (1)
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Section Name:GENERAL TEST
Question:

Mahavir died at the age of 72 in 468 BC 1 :
A Pavapuri
B Vaishali

C Lumabimi

D Sarnath
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